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rul1'lidh'lclo,illO~lro8 i!nJOW:liJJ1cB6)jnJO(m c,,JOSl~. 

Answer all questions from 1 to 5. Each question 
carries 1 score. 

1 1Dlml~ 5 OJ5)(1>(D)lU na)~O C.!>.10(3l<>fflu3clJ6llCJ 

@amD<l>o na)CJ>l<mlc&, 1 (ruCc&:>c3 ru'lcmo 

1. 

2. 

3. 

4. 

5. 

The keyword used to define a structure 
data type in C++ is ............. . 

Which operator is used in C++ to allo­
cate memory during run-time? 

The blue print for an object in Object Ori-
ented Programming. is known as ........... . 

Name the operation on data structure that 
may lead to the situation "Underflow". 

Which of the following is an empty tag in 
HTML? 

(a)<HEAD> 
(c) <PRE> 

(b)<HR> 
(d)<FONT> 

(5xl = 5) 

Answer any 9 questions from 6 to 16. Each ques­
tion carries 2 score. 

6. Read the following structure definition 
in C++ and identify the errors in it: 

student 
{ 

int roll= 25; 
char name [20]; 

} st ; 

1. 

2. 

3. 

4. 

5. 

C++ ro8 63©6 CTULScfb.!l..l@ cwogo6l6lsij mlmru 
.o..flc06>oo8 ............. ca, iaruM ~nJOCDJO(J)lc06>6<m6. 
om3 6>6>Sf2llro8 6>12lamol mic06>1 ruwc06>oo8 
C++ ro8 ~n.JO(ll)O(l)lcB6>J(Tl) 630':Haogm n43<m? 

636TlJE'lcfb5 63001(D)CJRCW <3Ln.JOL(l)O!lllo(J)lro8 63©6 
636TlJE'lc&Slmo(D)i~ 6™2Ln11CJR" ........... . 
nq)(Tl)Ol(D)6><;Hsl(Tl)l· 

"®'36m©nD O@O" nq)<m maOJcru.n(D)l<3eJCDlcOO 
<n(D)lcB6>00JJ(ll) cwogo cruLSc& .!l..lcB 
630<;t)Cli0 n!l:l6>CJR (lin.J6)(1)mJ)? 

.!l..lJOJ6ls 6>c£bOSJarn»lmlcB6>J(ll)OJCDJ1ro8 HTML 
6>e.J nq)onlgl som n43<m? 

(a)<HEAD> 
(c)<PRE> 

(b) <HR> 
(d)<FONT> 

(5xl = 5) 

6 IDl<Dl~ 16 (U5><ll<Dll!!!J Ca.liJC3lRB!1m& "'-!5>cmlllb1'11lo 9 

C.aJiJ(Jl"11CllclJ61 1com~o iia)Wica)i•• 2 ~a.a.:><3 CU1(3)o, 

e. .a.12 OJQs .e..offl)~ cm C++ s,ai ('I'\) ~Sc!h AJcS 
m1<00JA.Jmo ruo<I»l.gJ Cfflcm'16)al 6'Janm•u8 
db6>6T11Clfflna6, 

. student 
{ 

int roll = 25 · 
char name [20]; 

} llt , 
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7. 

8. 

9. 

What is meant by se1f-referential struc­
ture? Write an example. 

"Students is a class and Vimal and Vineetlta 
are objects". Similarly give another ex­
amp1e for a class and its two objects. 

What is polymorphism in OOP? What are 
the two types of polymorphism? 

10. Write an algorithm to add a new data into 
a stack data structure. 

11. Write an example for dynamic data struc­
ture. Why is it called dynamic? 

12. In array based stacks and queues "Over­
flow" may occur. What is the reason be­
hind this phenomenon? 

13. Prepare s short note about web server. 

14. Briefly explain the procedure in the com­
munication betweeen web servers. 

15. How do <P> tag and <BR> tag differ? 

16. Write HTML statements to show the fol­
lowing two lines in a web page: 

<EM> tag makes the text i~alic. 
A X2=0 I 

(9x2 =18) 

Answer any 9 questions from 17 to 27. Each ques­
tion carries 3 score. 

17. Distinguish static memory allocation and 
dynamic memory allocation. 

18. Define a structure in C ++ to represent the 
details of employees which include em­
ployee code, name, designation and sal­
ary. How many bytes of memory will be 
required for this structure? 

19. What is memory leak in programming? 
How can it be avoided? 

7. 6)0Um8nn-on.0ocron!l:l.\m8 <TULSdb.o.J@ oa)(Tl)O 
6)eJ®f? 63©J ~BOn0©6TT)o o(j)!PJ(t))Jdb. 

a. "~JM<f <ru 63©J ~o<ruJo ru1Qlm3, o.Jlmicm 
oa> cml ru<3 63 6TlJ ~.&' SJ ce,~ l Qlo6ID". manm 
manm1m3 Ql6)~P©J 1JO<rulmJo (8li)Q.J(D)16)eJ 
(1)6J'8 6360J~c&SJdbu3<96>Jo g!BOn0(!)6TT)o 
mm3dbJdb. 

9. OOP 6)eJ C:nJO~laQlO©nOl<ruo o(j)(l1)06)eJ<lID? 
C!l6T'BJ(t))©o (]nJO~laQlO©nOl<ruo njj36)(t))~Oo? 

10. 63©J ~ot86) Mo~p crucs.&.o.Jo1<03 nJJcmlw 
63C!lJ Mog a.o.J©.OOJcmcmlmJ~ (8li)m3 
amomlcmo o(j)!PJ@Jdb. 

ll. 6)6)(U)ffi012l1.& cwogo <ruLS.&.o.Jolm 63C!lJ ~BO 
nO(l)6TT)o o(j)!PJ@Jdb. CllTc)@lG>m G>G>cwmo1211.& 
o(j)cm nn~,<96) l cm@ o(j)(TO) l G>dbo6TE? 

12. (8li) a o (8li) sl mill o mQl ow ~ o.ool eJJ o 
db_,\l<1JleJJo "63oruc3nna~o" <ruo@OJ1dl6>0o. 
[Q'!> LnJ@l@o<ruanmlm nJlcmlG>eJ db0(!)6YT) 
6)/2lCJID? 

13. G>OJ611J G>ou<8ruolG>mc00101~ eJneJJ dbJolij 
(t)')(D)000<96>Jdb. 

14. 6)(1J6T}J 6)<JU©<1JOJdbu3 cmamleJJ~ 
~ oowrul m1f2l wanm16>ei Ln.JOJ<8anmmo 
<TUocB,9::llnJ(t))QlO(D)l ru100BQl0<96>Jdb. 

15. <P> SO(J)Jo <BR> SO(J)Jo o(j)6ID36>ffi 
OJ_,\CU>_,\<TU@QlOdbJOl)J? 

16. 63©J 6)(1J6TlJ QnJ~1m3 ~JOJG>S db06YT)J(ll) 
©GraJ rum1.e.u3 LnJB@((l)1~cS6)J Ol)(U)lffiJ~ 
HTML (]~gl6>f2lo§Jdbu3 o(j)!PJ(t))Jdb. 

<EM> tag makes the text ita1ic. 
AX2=0 I 

(9x2 =18) 

11 illl®m3 21 ruo>mCD>l~ C:-ll:JCJ~om~lm3 riO)o>®llbleJll) 
9 c:.ll:JCJ~r.m<l3c&6l @(OJO)(l)I) nID!J>l®l.a.. 3 cruc:.a.am ruiml). 

17. c;moglc&' G>12112mol CllTc)<J:eJoa.oon!l:lm6o 
6>6>cwmo1211<&' 6)12ll2m01 (8li)(]eJOC:c86>~m6o 
cmamleiJ~ ru.\@.,\OOU6)12lm»? 

18. o(j)oC::™O(D)i C:c&..OM, C::n.J©, cmcroCU>ldb, 
OOCTlJ~o o(j)Ol), nil ru C!l6ID3UO g!u36>~SJ 01) 

6>(t))O!P1 eJO@ldb~~ 6)5 rul OOB O o 00 6913 u8 
cru2.Q.Jl\½:JlcS6)Jcm 63©~ C++ m3\sc&' ~<8 
mlc69.1~lcS6)~.a,. [Q®lm o(j)l<ID 6)6>6Yl.lg' 
6)Ql12m01 C:Q.J6Tls1Q.J©J O? 

19. C::lnJOlcnOQl1ocn1m3 6)/2l12m01 QJ,cB6> 
nm OT> 06> e.i mi'> ? man nm 6?ffi6) m 63 wl ru ci cfl6) oa? 
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20. Read the following C++ statements 
and find the output; 

int ar[ ]={ 12, 65, 23, 42, 18} ; 

int *ptr=ar; 

cout << *ptr + *ar << "\n"; 

cout << *ptr + 1 << "\n" ; 

cout << *(ar+ 1) << "\n" ; 

21. Write any three advantages of Object 
Oriented Programming. 

22. Explain any three types of inheritance 
in OOP. 

23. Write down the procedure to create a 
linked list. 

24. Give a detailed classification of data 
structures. 

25. What is the use of <MARQUEE> tag 
in web pages? Explain the effect of any 
two of its attributes. 

26. Differentiate static web pages and dy­
namic web pages. 

27. How do client side scripting and sever 
side scripting differ? Give examples for 
each of these scripting languages. 

(9x3 =27) 

Answer any 2 questions from 28 to 30. Each 
question carries 5 score. 

28. Roll number, name and marks of six 
subjects are to be represented by a 
structure data type. 

(a)Write the structure defenition for the 
above details in C++. 

(b )Declare a variable using this struc­
ture and write C++ statements to 
input the details of a student into this 
variable. Also write a loop statement 
to find the total marks. 

20. .o...1 6ru6)S @ce,os 6:~lm~c&,16ITTl C++ l]?;),?g 
@1Zl~6cm<.fil n.lOlllJl~ 6FD§r>!~~ d:b6)6TT~CITTO)Jd3-,. 

int ar[ ]={ 12, 65, 23, 42, 18}; 

int *ptr=ar; 

cout << =i<ptr + *ar << "\n" ; 

cout << *ptr + l << "\n" ; 

cout << "'(ar+ 1) << "\n" ; 

21. 63 6ru S<1 d s @ o ol CQl cr5 1:\.U cg L nJ o un o 01 o (/)1@ CT5 
~ 0 

n436"JCOHfu7~6o 0;m'5 c~~'lz:c&,C/8 '¾11)'PJ®Jd3>. 

22. OOP 6) e.i n43 6) ~' 83:. 1 BJ') 0 6 m);@ coo 

@CT8@n.no13cr8<n.)6 ce,<.lil ru1Uu(3'lce, t1l1"36>J cm. 

23. 63 (06 e.il 6':h (U) ell cpJ ml 012l2l1 r:6Sl J ITT)(u)l CT!; fill 
Lri.Jn.1(8ctnmmLc:e,IZlo nfil\9~ ccn J <B,. 

24. rwogo m'iLScfu.!l.lOJd:h§Jb)S (u)Domi76kJJ6d3:iUU 
rul oo ci 0 o c0ti, J c0:,. 

25. @rumi (]n.Jg;qc0,~lm <MARQUEE> 50(..1)16)'.lR 
~ n..J Ci mJ o (I)@ 0 cm) ? ®cH'3l 1@ ~ "'4l@ ClYl ffh 1 eJ 6 o (l) 6m 
~~Sl6ll.ljJ3J cB:,§2 @5 Lrd(~'.J()Jo ru1UclBl2lOc0ti,J ctn. 

26. ~ogle& G>rum1 (],u~6c£h~;o w6VWmJ0lce; 

@ QI 6TIJ (g nJ ~; <Eb § 6 o 0l :mil £>J .l gill ru .,') (ID Jo 
(TU@f2)(TO)'? 

27. ~w1Gr @6Hn.lCU) cruLce,7n:iglocnJo 6)(T).);3ru<B 
@ GHru cu5' rn) ~ a, 7 n.J g 1 o U) 6 o n.(J) &DH 6l m 

ruym J, er{ J.i):2; J c&J CTDl? @·"9 cru c,G, 1n107 o 0 , _.., 

e.JJoCU)J~JcB:,C/)a¾1 [?C3Jn.D(1)6ffio (1')(7Jl)co,6<B,. 

(9x3 =27J 

28 !lll®CTm 30 :tb)~:n,6~ G_-i.lJ01Wl~lt1l-S .-.J!ti"!rnilblei6a 2 

<hJJ(3~offlcrlah) i!(Jm,~o "U}'J>Ja!J~db. 5 (l\;,Gcd,J,3 Ml@o. 

28. (]OOvZ> mcru<8, (]n.J©, 6 '.1..iltd1Q})6ID3~6 6l s r.1JO©c&i1 J 
c:0,u3 nq)cm1 OJ@(D) 63«> 6 m\ s,,➔.; !1.lm cw o \:p @@ s i:tJ7 
e.il6>5 Lru@1m1w1,e,mlac86>6Tgl(D)1(6lc66)J@J. 

(a) (] 0 m3 i:tl o 6TOlu) 1 m 7 c£l6> J cm 
6m3 cm c86) o ©> 1 C + + @ e.i 
mlmnJ_'lJmo n©!9l®6ce,. 

rul (Rl C3 J o uo 
cru LS«b .cu cil 

(b) ~'TI O"D lSd:)~ .o...Jd ~n..J(]CD>J(f)l~ 63i'.1lJ 

(] ru ©7 CQ)Gn.fl cm cw l~w m @.eu cri( d5 (1f@@7 
(]e.JWd36> @m6 ru1(3J,0©(1J)07cn;6@s rulCR>Boouo 
6lffi<lil ~®n.JJ~ 6hJcg>JITT)@1m6gill C++ 
m;r;}lQ6)1211Jc&,<.fil ~j)'9JCOlJc6,. ~6)c£h QJO@t:00 

ce, 6nsJ n.Jl slc006 rrn@l m J ~ 63 co J e..ll c;J 
(]~g@i2l~Jo ri{j)\9~®6Tno. 
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29. Write an algorithm to remove a data from 
a linear queue. Explain the advantage of 
circular queue over linear queue. 

30. Write an HTML program for a web page 
about the beauty of your locality. The page 
should contain the following features: 

• A heading showing the name of local­
ity 

• An image of a beautiful spot in your 
locality 

• A paragraph of two or three sentences 
in attractive font and colour 

• A scrolling text indicating an upcom­
ing event or festival. 

(2x5 =10) 

29. e.i1ml<DJc8 c9,.\2aflco8 mlcm6o 63ro6 Mog 
m1ce6)o 6).a..Jc~ncm(O)lITTl~ cmco8Cll(J)O(lfl(O)o 
n©Wl(O)la➔.., e.i1ml<DJo<5 c9,.\20.ll6lm 
(m(foJc&9:il~ cruc8c&JeJOc8 cS,_\lQJlmJ~ Clll2lCTZl 
aflCIOB 1a➔..rolcB6> 6 db. 

30. m161113~66>s Lo.JCllBC10cmml6lag 12lCllmo nno 
rol <ID6> <DJ c00 l ol,~mm 63 ro 6 6> ru 6Tii' Cll oJ m 
<ID<DJOOOcS6lOO>OQ.JCI0_\12lO<Dl HTML <BLo.JOL(J)Oo 
n©WJ<IDJa➔.•• 6>ru6Tii' on.u~1m .a..1 6oi6>s 
6) cB, 0 s 6 am)) 1 (1) 1 cB6) 6 (TI) CT\) ru1 0 (/1) n'l:f (0) <£b u8 
~OJCI0_\12l06Tl). 

• l oJ a a uo cmm 16> 1 Cll oJ <0 a➔.• o 6ml .a6> 6 cm 
uo1c8n'l:fa➔..o 

• Lo.J0/3U06)am)') 12lOITTOnD©l2l0(D) 63(1)l CTUl)eJ 

cmml6>ag A.ilL<IDo 

• ~ce,ron'l:fa➔..aio<DJ an.00Grale.160 mlo 
cmmleJJo roaGrao 12llacmo OJOdb.,\6lm~l~ 
63(l) 6 6)J 6TTU)1 cB, 

• ~ (J) <IDl2lo <DJ 63 ro6 ~Clll"\) OJ6> cmm o <DJ o (T\) o~ 
OJ6)am)')0<DJO (Tl)6.o.Jl~lce6)J cm cruOLcB:iO~lom 
6>Sd:b~. 

(2x5 =10) 

...,,,,. 
·-·· tr-?tC 




